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INSTRUCTIONS FOR CANDIDATES

. All questions are compulsory.
- Extra time of 10 minutes will be given for !

careful reading and understanding instructions |
as well as for making required entries in |
Question Paper and Question Cum Answer

Booklet (QAB). |

Before making any entry on Question Paper |
and QAB candidate should count and check |
the:no.of pages and if any discrepancy is seen |

Aheriinvigilator should be informed immediately ,
Qr.another copy efQuestion Paper/QAB.

Eacher 1 m&uestion Paper and QAB should |

donew:thBIack!BIuﬂe Ball Point Pen. l
..In_Hindi/English férmat of questions some |

minor, spelling/other mistake in either one of |
languages will not be considered objectionable |
as it is expected that candidates beingl
graduate can percept and understand that. No -

-applications regarding the same will be |

entertained by the Commission. |

Use of Calculators, Log Tables, Mobile Phones, |
Pagers and any other type of communication |
or calculating devices are strictly prohibited

and punishable. ' |

Rough Work can be done only on last page of ’
Question Answer Booklet.
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'SECTION — 1
(376-02)
oo - 1

1, 2 e, & st = 3 e i o st s A |
7

; 3
Find three rational numbers between 5 and B

o e B - (0:5)' =(0.4)"
’ " (0.5 +(0.4)%°

(0.5)' —(0.4)°

Simplify : e

3. x % fore W o ol sif1,'7am2x,qmaniat Suft % A FHATTA TG & ¢

For what value of x, are 3x — 1, 7 and 2x three consecutive terms of an arithmetic

progression ?

a. ﬁﬁaﬁﬁmmﬁﬁﬁmﬁqﬁf@awmwﬂml
| (23)3 + (-13)3 + (-10)3

Without actually calculating the cubes, find the value of

(23)3 + (-1 3)3 +(=10)°
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1. 2fe o ST 36 < 90 36 i (-2, 0), (2, 0) e (2, 1) B 1 9 < i 3 e v e |

I the three vertices of a rectangle are (-2, 0), (2, 0) and (2, 1). Find the coordinates of the

fourth vertex.

2. 21°30" =i g | aefiemd |

Express 21°30’ in radians.

3. A fargait (2, 3) 3 (-1, 5) I RreTRaTe! Yamavs HY x-o1er frr srgama i R w3 ?

Find the ratio in which the join of two points (2, 3) and (-1, 5) is divided by the x-axis.

4. 3f sinB = /3 cos® A cos —sin® 1 WM F| AR | (0<©<90°)

If sin® = +/3 cos 6 then evaluate cos © —-sin®, (0<6<90°)

1. %) feoifr dea wored § -2 & sie s A $ 7
Q). S (Femer) Ee Yot § - & 3 I35 A § 7

(11001),, =1 =rfireh T # saert IR |
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What are the digits used in
a) binary number.system |

b) decimal number system ?

Write (11001), in decimal number.

2. S wer Tvuer feerT 31 S ISTE ST R, 41 &4 o A U SR 6w 3TH At TR 31d i |

An unbiased coin is tossed twice. Find the probability of getting at least one head.

3. frt oriensl & forw “wreas’ 9 ‘Sge G i |
11' 2! 51 4! 3! 2! 5! 6! 3! 4! 5,, 1! 6
Find the ‘median’ and the ‘mode’ of the data :

1,2,5,4,3,25,6,3,4,5, 1,6

4. 3few faftr 1 = 06, 31728 w1 "W g1d R |

Using Vedic method, find ¥1728

arT - 4

1. U YATCHS qUTTeh o1 a7l 36 TE AT A 80 1fvres ? | qurtes ferfa |

Square of a positive integer is 80 more than 11 times of it. Write the integer.

-4 _ | 06
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2. Tk T A9 15% & 17 3R R | G 3@ FIRA |

A number exceeds 15% of it by 17. Find the number.

3. o el 1s Sl e R A e ey S

A train is moving with a speed of 144 km/hour. Find its speed in m/sec.

4. 31 ST T AT AT S HA: 22 T 82 | 57 G o I A e AR |
The sum and difference of two numbers are 22 and 8 respectively. Find the

difference of their squares.
awr - 5

1. OF 9 K1 9 SR 15 fie qwifen < w1 R, o 9% awa g § femeen gwriar SR ?

“ The time shown by a clock is 7 hrs. and 15 minutes. What time does it show on the mirror ?

2. TR o i it 35 3 Y T R ST e R o il Y e o, o 3
% IS T 1t 9ot 3 rfed 7R e aof @ g ?

If the first half of the English alphabet series is reversed and the second half is kept

untouched, which is the third letter to the right of the seventh letter from the left of the

series ?7
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3. WHEASON%mﬁ@raﬂméﬁmmwa@aﬁﬁmaﬁ a‘r@aﬁ&rmaa@ﬁaﬁ@ﬁ
axtrﬁaﬁvh?rs’rl

If the letters of the word REASON are arranged alphabetically, find the letter whose

position remains unchanged.

4. aft BOY 9 CPZ % &9 # fvan stran 8, <1 38 3nui | GIRL =t g goha o foa ?
If BOY is written as CPZ, then how will GIRL be written in this code ?
@us - 2

SECTION — 2

(3104 )

arr -1

5. 21 et & e ST 1 SR 3 1 2 91K 5 2 4 | A6 et St g e et
| _aﬁﬁgﬁaﬂtwwmmﬁﬁm

Two solutions contain alcohol and water in the ratio 3:2 and 5 : 4. If the two solutlons are

mixed in equal guantities, find the ratio of alcohol and water.

6. UM, ﬁw@qﬁuaﬁ%%qﬁ: 8%, 6% T 10% aTfies sl &1 & ¥ 20,000 . H
. IFE S g Hi | AfE s otef anfdien A w |

What is the compound interest received on a sum of Rs. 20,000/~ at rates 8% p.a.,
6% p.a. and 10% p a. each prevalhng in that order for years 1, 2 and 3 interest bemg

compounded semi-annually for the given 3 years ?

& | 06
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5. w%aﬁ%aﬁﬁé,%m?ﬁﬁ.%,wwawmmﬁﬁﬂl

Find the volume and the total surface area of a wooden solid hemisphere of

diameter 7 cm.

6. Tl ATt T 1 3TN e, feEme R forg A (5, 6), B (1, 5), C (2, 1) =1 D (6, 2) qanaﬁ%sﬂﬁ% |

Using distance formula, show that the points A (5, 6), B (1, 5), C (2, 1), D (6, 2) are

the vertices of a square.
qrr -3

5. aﬁﬁaﬁ..a, 12, 16 I .
i) THTRR HTe, U A1ET G Slcieh H1ed J1d shifsry |
i) awited b W AT > TUIR HIET > S HIE |
Forthe data 4, 8, 12, 16 :
i) Find Arithmetic mean-, Geometric mean and Harmonic mean.

i) Show that AM > GM > HM.
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6. 1315 aﬁamaﬁméwﬁﬁ Wwﬁwmﬁm@aﬂ@ﬁﬁﬂw |
fopet 6 e T IR | | |
i) Ey : Feprel T TS W 1 we § |
ii) E, : Feprat T e W we g |
i) Ey nE;s.
" Out of the cards numbered ‘frﬁm 1to 15,‘ which are mixed thoroughly, a card is

drawn at random. Find the probability of the following :
i) E4:drawn card bears a prime number.
i) E,:drawn card bears an even number.

i) EynEs.
R - 4

5 g 3 aadt 31 2 oreh et e 1 10 Rl § 9ol e 8, Wt 2 s 31 3 ek 3 WA
o Rl # o wred ¥, Tt 2 s it 2 et v s ) P Reff ot R 7
3 .men. and 2 boys can complete a piece of work in 10 c_!ays, while 2 men and

3 boys can complete the same work in 9 days. In how many days can 2 men and

2 boys complete the work ?

6. af 15t 1 st 37 1599 1 ofk 20 gl Al sive 37 14 |7 i o e
fore o ST 1 4 35 P A shed smg AR Y
The average age of 15 boys is 15 years and the .average age of 20 'giris is 14 years.

What is the average age of the 35 combined studeﬁts ?

& : 06
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5. mm%mﬂmmmﬁsﬁawmﬁﬁﬁﬁmﬁmwﬁ|

Draw a figure in place of question mark so that the sequence of figures continues.

) B2

\S
N

i) ?

w1 F | e

6. vria‘:xananf‘x’,ymmf‘;,zmaqef‘+’amwmawef‘-’%,a‘r1025y25z13x3w203mm=r
I IR |

If x means ‘x’, y means ‘+’, Zmeans ‘+ and W means ‘-’ then, find the value of

1025y25z13x3w20.
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SECTION -3
(37%-08)
9T - 1

7. qeelt Ta =1 fhed 91 X 712 W E. 6,500 W R, 3 erredt gft Ta i ae ufiiE 110
et et 7€ | =R wf T frew T Rem 1 @ T 1,000 1,  TqET TE S 7@ g
Sreifeh <h1s T SAfSid A&l &0 ?

The gate receipts at the show of a film amounted to Rs. 6,500 on the first night and
showed a drop of Rs. 110 every succeeding night. If the operational expenses of

the show is Rs. 1,000 a night, find on which night the show ceases to be profitable ?

WIT - 2

7. ok TR P 36 31 = Bt b1 S %’t&m% | B 35 AT Bl 2B T iR e wifeeh v
¥ J1a I | : :

"
The difference between two acute angles of a right angled triangle is 10 radians.

Find the measure of all the three angles in (i) sexagesimal and (ii) centesimal

measure.

T - 3

7. $= & 7 Soft w1 T g1 A
1222432424 52—.62_+ ...... -18882 + 18892
Fid hesuy o155 following series :

12922 ,32_42 45262+ ..... —18882 + 18892

-10- 06
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7. e e R 96 P, 150 7 e & g e ) g oy e e
aﬁaﬂmmﬁﬁgoﬁmwmwm%mﬁmaﬁmﬁzﬁrﬁ gfd == &, &
- Ry AT

A boat takes 90 minutes less to travel 36 km downstream than to travel the same

distance upstream. If the speed of the stream is 2 km/hour, find the speed of the
boat
T - 5 ' :
7. G &Y ST —‘mqsﬁ'ﬁi}nﬁ%,ﬁséamﬁmﬁmﬁﬁqmmm?

Two different views of a cube are given below. Find the number which is beneath 3.

2 6]
.8 '5_ 1
Tz - 4
SECTION - 4
(37%-20)
(39 @z % fafim wwit @ g 03mﬁ1zwrt{l’r |
el wht 3 A S 02 3w A FHY)
T - 1

8. T A 3G G i e - 37em AR A, B, C H Ferr R Rreent e 30w € )

A 1,00000  5%p.a. 2 ¢ TR
IS B ¢ | 1,00,000 5% p.a. 299 RET I
AFC:  1,00,000 4% 6 W 294 Thel

11- 06
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Ramesh invested his money in three different schemes A, B and C. Details are given

below :
Principal Rate of interest Time Interest
Scheme A : 1,00,000 5% p.a. 2yrs. Simple
Scheme B : 1,00,000 5% p.a. 2yrs. Compound
Scheme C : 1,00,000 4% halfyearly 2yrs. Compound

)2 3 e T = et e o o 7
i) CalcUlate the total amount, Ramesh will get after 2 years.
ii) S Ef s g SRR |

i) Which scheme is most beneficial ?

W -3
8. H= & T SaRaT GoRt 1 wEAeRT 35 qUT FRARAT AN 170 B |aﬁuﬁw%¥gm3¢a‘mﬁ
m,aﬁaﬁ&ﬁaﬁmaﬁﬁmamwquéwmﬁﬁﬁm

Class : 0-10 10-20 20-30 30-40 40-50 50-60 60-70
gWEwar ;10 . 20 35 f, 25 f, 15

The median value of the fo!!owing' frequency distribution is 35 and the sum of the

frequencies is 170. Using the formula for Median, find the missing frequencies and hence

find the Mean and Mode.

Class . 0—=10 10-20 20-30 30-40 40-50 50-60 60-70

Frequency : 10 20 35 fy 25 f 15
-i2- 06
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8. A, B, C, D, E 3R F &: Wt &, it

* A 9B T T §
* B 3R E Yfceiiees s 7€ @
- D % e v T &

eASRD iﬂ%rmféa: T Tl 8
* A 3R BT S8 T 7 8
There are six cities A, B, C, D, E and'F
* A is not a hill station |
* B & E are not historical places
* D is not an industrial city
*A&D Iare not historical cities
* A & B are not alike.
a) = 1 @ = 3 vt drehfives e 7

ATaTB, ETYTF, Cau1 D, B qn F, Adar D
a) Of the followings, which two cities are industrial centres ?
“AandB,EandF,CandD,BandF, AandD
b) B & & -2 vy afres W § 7
ATaIC, BAATF, CaamF, DT E, Aq91 D

b) Which two cities are historical places ?

AandC,BandF,CandF,DandE, A and D
13- 06
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SECTION -5
(376-40)
(za @ue # fafirs st & et 02 T fag S |
sregeff @t T o s 01 IW 3 FAY)
qT -2

8. Ts T g sor, S SR 1 = 70 ﬁ.ﬂ’t.w"’mﬁwo FA R, TR AR

a) afe 21 .. STt W 3rE TS Y 39 Ao F gl §9 @ SIS, Ao § fohar e we
m?

b) afd 21 & .. B ot IR 72 F AL Wézﬂéqqaé‘mmﬁaﬁgaamﬁqﬁwéw
W,ﬁﬁm%mqﬁwmﬁ?

c)snﬁﬁﬁh{:
i) TIYSY ST 3T : TR T ST : ST I .
i) ﬁamg@aaﬁw:ﬁqﬁw_m:émﬁwm

A right circular cylinder of base diameter 70 cm an.d height 150 cm is full of water :

a) If a solid sphere of radius 21 cm is completely immersed into the cylinder, then how

much water will flow out of the cylinder ?

b) If a solid cone of base radius 21 cm and height 72 cm is completely immersed into

the cylinder, then how much water will flow out of the cylinder ?
¢) Find:
i) Volume of sphere : volume of cone : volume of cylinder

i) C.S.A. of sphere : C.S.A. of cone : C.S.A. of cylinder _
A4~ 06
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8. @) T WohR I = I 2 : 3% Iigar # forer feam 7w 1 5@ 150 %, 9 Pl R @ a9 w
15% 1 RIS EIA1 8 | AfE 9orH S i =1 1 569 44 90 . Wi fhedl, 1 qut wanm 1 =y
%1 3 o I fore sma hifv |
Teais mixed in the ratio.2 : 3 and sold at the rate of Rs. 150 per kg resulting in a profit
~ of 15%. If the cost of the first variety be Rs. 90 per kg, find the cost per kg of the
second variety.
8. b) aﬁmmﬁwmu@w%mﬁ%ﬁww%W%,?ﬁaﬁwmmﬁﬁm

The cost price of 10 books is the same as the selling price of 15 books. Find the loss -

percentage.
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